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Examinee is directed to read carefully the following
instructions :

. Examinee must write his/her Roll Number in the

specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling in the Roll Number, the examinee has to

put his/her signature on the Answer-Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, elc, as indicaled on the Answer OMR
Sheat. If these detalls are not filled in by the examinae,
his/her Answer Sheet will not be evaluated.

. For each question, there are four alternative answers,

out of which only one is correct, Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

. There are 16 (13+3} pages in this Question-Booklet

including 1 page for General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

. This Question Booklet contains 50 questions from

following subject :

(1) Biology Q. Nos. 1-50

. Each question carries 1 mark and % mark will be

deducled for each wrong answer.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted during the examination.

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator,

. During examination the examinee will not be allowed

to leave the examination hall tilt the END of the
Examination.
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BIOLOGY

1. Which of the following gas was absent
in the atmosphere at the time of origin
of life ?

A) NH,
B) H,
C) O,
D) CH,

2. The process of joining amino acids is

called

A) Transcription
B) Translation
C) Conjugation

- D) Transmission

3. The first menstruation begins at

puberty and is known as
A) Menarche

B) Menopause

C) Owvulation

D) Oogenesis

4. An allele that mask the effect of

another allele is called
A) Recessive

B) Dominant

C) Epistatic

D) Assorted

D) fifim

i e
1. Sfie & 3%a ¥ g Frafifes § @ -
ot g e § uftm T ot 2
A) NH,
B) H,
C) O,
D) CH,

2. 3pfiat o & = ) Witk el 2
A) wiifereaiator
B) TR

C) sgmH
D) @=rw

3. veen Wi aE PRy ¥ ang e d,
fra Fed &

A) wiREH

B) whfagfy

C) ekl

D) arss

4. & Rt < g@ et A

a8, wgena §

A) I

B) weret/uvrf

C) dvius
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5. Ffafaa ¥ @ w9-a1 wew dao & 2

5. Which of the following crosses is a

B) Guanine, Adenine — Purines
C) Uracil, Cytosine — Pyrimidines

D) Thymine, Uracil — Pyrimidines

test cross ? A) WW x WW
A) WWidww B) WW x Ww
B) WW x W
AT C) Ww x ww
C) Ww x ww
D) Ww x Ww
D) Ww x Ww
. Which one among the following pairs . Fetafes & @ S-a1 feas sl w0
of nitrogenous bases of nucleic acids, ATEISH &R 3% |y Sfewiaa Avft 3 @y
is'wrongly matched with the category G
mentioned against it ?
S ?rh i A) TP, i - o
enine, Thymine — Purines
B) i , wfef — wf

C) gifaer , wrgdiftm — ursiififeg
D) i, Fifoet — meffufe

. The bonds that hoid the;two . ST T ST W Y 219 g
complementary strands of DNA @A Sren /4R
together are ‘ A} ST Y
A) Ionic' bonds B) Ywree Ay
S; lz:op:s:ot:i)::tser bonds Qe B
D) Hydrogen bonds DIRRGa 3
- Darwins finches are a good example of e hifafem. o sarmn
A) Adaptive radiation ST
B) Convergent evolution A) STt afeeor
C) Industrial melanism B) !-Tgaﬁm
D) Connecting link C) AT Fedfaren
D), i
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9.

10.

11.

12.

13.

The fossils of this man provide first
evidence for the burial of their dead.

A) Peking man

B) Java man

C) Cro-magnon man
D) Neanderthal man

The confirmation test for typhoid
fever is

A) Widal test
B) ELISA

C) Ultra sound
D} MRI

Holstein — Friesian, Brown — Swiss
and Jersey are all well known

A) Animal husbandry scientists
B) Exotic breeds of cow

C) Exotic breeds of poultry

D) Exotic breeds of goat

The gas present in maximum proportion
in gobar gas is

A) Butane

B} Methane

C) Carbon dioxide

D) Propane

Mention the wrongly matched pair
among the following

A) Bryophyllum - leaf buds
B) Agave — Bulbils

C) Penicillium — Conidia

D) Water hyacinth — Runner

Page No. 5

9.

10.

11,

12.

13.

0 A S SETeH 3 g I R GHA
<1 Y& T1ET S Ll &

A) A A"

B) S AHE

C) wI-8 urE

D) sy (Faretd) AFe

TGS TER H IS - 8
A) g ahemr

B} eren

C) st

D) WI.3TR.3TE.

T - oA, 7 - fem oft swdt
WH-AR L ®

A) TINTEH ST

B) T i faaeit &

C) it <t fereeft =

D) R0 <ht et e

e e 7 waiften srgee # Sufen a2
A) =&

B) Heq

C) A SIE3HTaEs

D) Wius

Frerfifaa # nera gafea ST sy |
A) FAIGEAT — Yo
B) THeH — U WehleTsh
C) ffaferm - wiffea
D) srergHt — afeem
5 JCECE (B)
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15.

16.

17.

¢ A~

The scutelum observed in a grain
of wheat or maize is comparable

to which part of the seed in other
dicotyledons ?

A) Aleurone layer
B) Plumule

C) Radicle

D) Cotyledon

Nucellar polyembryony is seen in the
species of

A) Brassica
B) Citrus

C) Gossypium
D) Triticum

Which of the following have a special
cellular thickening at the micropylar tip
of the embryo sac ?

A) Central cell
B) Egg cell

C) Synergids
D) Antipodals

The Leydig celis found in ‘the human
body are the secretory source of

A) Glucagon

B) Androgens

C) Progesterone
D) Intestinal mucus

14.

15.

16.

17.

D) i verem

| BB AR R A0

A o1 7 & o F ar R T e
¥ Teafierafial % e v @ g 1
qHdA 2 2

A) 0 7@
B) wigw

C) 9eT
D) sfiergs

ﬁm@mmﬁﬁwm%?
A) wifftremr

B) fegw

C) wiyfam

D) RRwm

Fefefaa # @ e yordelt & i o
R e wif¥eha s dar @ 2

A) T e
B) 3ig wifimEm
C) s
D) wferge

WA TR & i S arelt Afen s
ok aEu R aag ?

A) TEH
B) grRH
C) st

5 JCECE (B)
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18.

20.

21.

HlnmIm

The endometrium is the lining of
A) Bladder

B) Vagina

C) Uterus

D) Fallopian tube

. Which among the following is also a

part included in the group of external
genitalia in human females apart from
Labia majora and Labia minora ?

A) Clitoris
B) Vagina
C) Ovid;.act
D) Cervix

Which of the following hormone induces
parturition ?

A) TSH

B) GH

C) Vasopressin
D) Oxytocin

Medical Termination of Pregnancy
(MTP).is considered safe upto how
many weeks of pregnancy ?

A) six weeks
B) eight weeks
C) twelve weeks

D) eighteen weeks

18.

19.

20.

21.

gm0 fwaR

A) TEE

B) aif¥

C) iy

D) ¥%eiifem et

=3 WSS 3T B wirss & fafes arg

e # e s A o FrefiRea &
P-wr wm i 2 ?

A) TR

B) 3

C) igafea
D) et (i)

frafafaa # o frg s & go v A
I e g 7

A) g

B) sfew

C) Fanfm

D) A RRRA

forem Tt e fufemcadhig miur & gefém
AT ST 2

A) 8:HwE

B) 318 ¥warg

C) 9RE gwE

D) 3%3RE g8
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22.

23.

24,

25.

Family Planning program was
launched in

A) 1920
B) 1930
C) 1950
D) 1951

If a colorblind woman marries a normal
visioned man, their sons will be

A) All normal

B) One half normal and one half
colorblind

C) Three fourth colour blind and one
fourth normal

D} All color blind

Semiconservative replication of DNA
was first demonstrated in

A) Escherichia coli
B) Streptococcus pneumoniae
C) Salmonella typhi

D) Drosophila melanogaster

Which of the following type of antibody is
abundantly present in the yellowish fluid
‘colostrum’ secreted by mother during
initial days of lactation ?

A) IgA
B) IgE
C) IgG
D) IgM

Page No. 8

22.

23.

24.

25.

A 0 0 R

uftar Friem swriswn % fat T o
A) 1920 #
B) 1930 #
C) 1950 %
D) 1951 #

e Uity Tiken T A g % SfE |
e e & | 556 92 &

A) ot gE

B) a1 Ty i Y auiy

C) i e ity it we e g
D) aft guiiy

2w 1 214 weeht aioeien gaved
o wefiia o |

A) TEHRfiTET Hiems

B) Rrehrrd IR

C) rerlen Tgh

D) e BeHiv

oy a3 e R # e g et
e 91 1S g9 ‘wiegn § Efiiaa
# & P-] VR F wiref agara § 9
g ?
A) IgA
B) IgE
C) IgG
D) IgM
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26. Locations on sites in the human DNA

27.

28.

29.

where single base DNA differences
occur are called

A) Repetitive DNA
B) VNTR
C) SNP

D) Expressed sequence tags

Organic compounds that first evolved
on earth required for origin of life were

A) Urea and amino acids
B) Proteins and amino acids
C) Proteins and nucleic acids

D) Urea and nucleic acids

Who proposed that the first form of life
could have come from pre-existing non
living organic molecules ?

A) S. L. Miller

B) Charles Darwin

C) Alfred Wallace

D) Oparin and Haldane

Infective stage of Plasmodium in
man is

A) Gametocyte
B) Sporozoite
C) Merozoite

D) Metamerozoite

Page No. 9

26. AHE STy 1 T8 M W8l Uhel &1 S

27.

28.

29.

3 BT 8, FEC 8
A) e IeTg

B) VNTR

C) SNP

D) 3tfireaer 7 3ifras

et = 3 % foru il Sa Afet 4 @
geefl X e S S A 3

A) FiEn 37 ol s
B) S it arfiHt ovA
C) WidH 3R =ffeieh o
D) gfer iR ~yfes

Tores veanfara e for sfas =1 wem v Twe
g Feffa Sig stupet & st g ?

A) . . fieert
B) =ed Sife

C) 3Tchg i

D) 3T i s/ee

e 3 e % s o ¥
A) ST
B) iy
C) Ty
D) srdiaesmy
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30. Which one of the following is not a

31.

characteristic of cancerous cell whereas
the remaining three are ?

A) They divide in an uncontrolled
manner

B) They show contact inhibition

C) They compete with normal cells for
vital nutrients

D) They do not remain confined in the
area of formation

Which of the following is an opioid
drug ?

A) Heroin

B) Cocaine

C) Marijuana

D) Charas

. The linking of the antibiotic resistance

gene with the plasmid vector became
possible with

A) Exonuclease

B) DNA ligase

C) Endonuclease
D) DNA polymerase

Biolistics (gene-gun) is suitable for
A) DNA finger printing
B) Disarming pathogen vectors

C) Constructing recombinant DNA
molecules

D) Transformation of plant celis

Page No. 10

30.

31.

32,

33.

T & FE-a o AR £ fkw
T e Tafr AR dT 7

A) 3 G Fahm vl & Rwfsa &t &
B) 3 Ty Quekar giieh )

C) 9 reuriyas NS 9@l ¥ R am=
Hif¥rmait & goerut wf &)

D) & Seafer & e diftya 7 wht

frferfaa 3 & F-of ws arhndt
it 3 7

A) ¥

B) ®rfA

C) wifsm

D) W&

AT JTeeh o A1 St gt <= a0
SEE] FUY G TAR |
A) RIS

B) dwe @R

C) TEfRTe

D) ¥ wiferisr

e (f-m) . FRm
IIH B |
A) SieTT el BT

- B) qmrv ATl Wi FA

C) gt ey vt & fmfu
D) ured FHifirmait & Tiaw & R
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34.

35.

36.

37.

‘What is true about Bt toxin ?

A) Bt protein exists as active toxin in
the Bacillus

B) The activated toxin enters the
ovaries of the pest to sterilize it
and thus prevent its multiplication

C) The concerned bacillus has
antitoxins

D) The inactive protoxin gets converted
into active form in the insect gut

Lactic Acid Bacteria (LAB) grow in milk
and convert it to curd and improve its
nutritional guality by increasing

A) Vitamin — A
B) Vitamin -B,,
C) Vitamin - B,
D) Vitamin - C

A patient broughf to a hospital with
myocardial infarction is normally
immediately given

A) Cyclosporin A
B) Streptokinase
C) Penicillin

D) Statins

An immunosuppressive agént
produced by a microbe

A) Cyclosporin A
B) Streptokinase
C) Penicillin

D) Statins

Page No. 11
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A) St T e A ahm S w0 |
g EATE |

B) @fsha fa e & siegwm I 3§ Fw
g wferee & @ 3 S A A B

C) weifta Ao & wiafw e 2 )

D) Fifskr e i a1 & s afwa
9 ¥ giafda gt s 2 |

35. Tifaes an Sy (LAB) g4 | gfg &ar @
AiRsA I doeuaedm ___ @g[
T FERhT 19T T[T STl E |
A) fFfE - A
B) fafim-B,,
C) faefim — B,
D) faerfi| ~C

36. VT (TTETEmE) T W Wit ) ATare
GG R i o S 1
A) FTEEEITE A
B) SIS
C) wfifeet
D) i

37. wHgETSie g Senfed T iy
IR FIH ©
A) ATEEAEITE A
B) R
C) Rt
D) €fe
5 JCECE (B)
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38. Which among the following helps in

38.

40.

41.

42.

absorption of phosphorus from soil by
plants ?

A) Frankia
C) Glomus

B) Rhizobium
D) Anabaena

Which of the following sets is
hermaphrodite ?

A) Earthworm, Leech, Sponge
B) Scorpion, Ascaris, Hydra
C) Earthworm, Leech, Ascaris
D) Ascaris, Scorpion, Hydra

Which one of the foliowing periods is
largely associated with extinction of
dinosaurs and increase in the flowering
plants and reptiles ?
A) Jurassic

C) Cretaceous

B) Triassic
D) Permian

Elongation of the RNA polynucleotide
chain always takes place
A) When RNA acts as a primer

B) 5'-3' direction with new nucleotide
always added at the 3' site

C) During replication of DNA

D) In any direction along the entire
length of single DNA strand

Pussa Gaurav variety of Brassica is
resistant to

A) Jassids

B) Aphids

C) Shoot horers
D) Fruit borers

D) ®a 3t

T A A A

38. frfeiga & @ F-an el g g
BB 3 STaeieT § qEraT ST & 2

A) S B) wsiiferam
C) w=ma D) wwf

39. FF-u1 A== IvEfeEi @ 7
A) FFam, STk, TS
B) for=g, wehim, wse
C) ¥gam, Sife, wehig
D) uehie, forsg, e

40. fefafea § @ -7 71 g2 w9
STEIER i BrgfE 3k gefioredt 3 Wiar
Sl a7
A) Ut B) st
C) shefyemm D) wifem

41. RNA dTiergfaRaaiierss e i war 8
BT g |

A) ST T T THHF 5 &9 8 1
FET 8, 79

B) 3" T W @3 AU gfRraiierss 3 e
Y 5 -3 Rmddar

C) dtwau & wfaferfigm % aug

D) e deau Rt i vl wiard F Ay -y
forelt oft fogm

2 IFmHRmiafrm &

e @ |
A) siftg
B) T%g
C) @ 3t
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43. Which one of the foliowing represents
a palindromic sequence in DNA ?

A) 5 - CCAATG - 3'

3' — GAATCC - 5'
B) 5 - CATTAG — &
3' — GATAAC - 5'

C) 5 - GATACC - 3
3' - CCTAAG - &
D) 5 — GAATTC — 3
3' —CTTAAG - &'

44. What was the key finding from Griffith's
experiments using live and heat killed
pathogenic bacteria ?

A) Bacteria with a smooth coat could
kill mice

B) Bacteria with a rough coat are not
lethal

C) DNA is the genetic material

D) Genetic material can be transferred
from dead to live bacteria

45. The gene that controls many

characters is called
A) Co-dominant gene
B) Polygene

C) Pleiotropic gene
D) Multiple gene

46. Conditions of a karyotype 2n + 1 and

2n + 2 are called
A} Aneuploidy
B) Polyploidy
C) Allopolyploidy
D) Monosomy

D) wrE

43. Fr=fafaa 4 @ Sv-w o § feimed
0 ! TTiaT E 7
A) 5' — CCAATG - 3'
3' — GAATCC - 5'
B) 5 —-CATTAG- 3
3' -~ GATAAC - 5'
C) 5 — GATACC - 3'
3 —CCTAAG - 5
D) 5 — GAATTC - 3
3 —CTTAAG - 5'

44, Sfifaa 3 FeAT gRT WR T e
Sftamupadt 1 WPt w0 5 il wm
% 7&1 WIS 4 off 7 |
A) Fore TR I Sfian <R =+ A
TFa &
B) TR =T A7 Sftam] wRe e
C) SieTe srgafweht gard &

D) gl ward 7a & “hfera sftamg &
T foR ST gear &

45. % i i Frafa weaTet i Seemw 2
A) TE-IuTEt ST
B) wgsh
C) sgavrEtsiA
D) agfay s

46. W PREF TSI 2n + 13020 + 2
Rufemt weemd 2
A) rgafiie
B) sgfm
C) wagnftan

5 JCECE (B)



Assertion and reason type questions :

In each of the. following questions, two
statements are given. One is assertion (A)
and one is reason (R). Mark the correct
answer as

A:

B:

O

48.

49,

50.

If both A and R are true and R is the
correct expianation of A.

If both A and R are true, but R is not the
correct explanation of A.

- If A is true but R is false
- |f both A and R are false

47.

Assertion : Viviparous animals give
better protection to their offsprings.

Reason : They lay their eggs in safer
places in the environment

A B C D

Assertion : In apomixis, plants of new
genetic material are produced.

Reason : In apomixis, individual of the
same genetic constitution meet.

A B C D

Assertion : Use of condomis asafeguard
against AIDS and sexual diseases
besides checking pregnancy.

Reason : Certain contraceptives are
planted under the skin of the upper
arm to prevent pregnancy.

A B C D

Assertion : In a person with AB blood
group, the erythrocytes carry both A
and B antigens on the surface.

Reason : The alleles I* and [® that
produce AB blood group are
co-dominant and both expressed.

A B C D

47.

48.

49,

50.

O A T 1

Frerferfas waw v ¥ gt oA Rrme §
e e (A) U TE HRO (R) ¥ | A€ IR
7@ vy fag = |

A:

af AR g E ot B, AT
=T B |

. g A 3 R 2t 9 & wg R, A F wel

e e |

. S AT E W RIEA T |
. %3 A i R 31 s € |

aiftvemer ; SIS hd 3T F=l Hi TEa
FEATAIC € |

T - A h S U TH
WHI IR |

A B C D

wftrmem i AR oA 8 7Y
R T 9 e A € |
T : A PR s T STIgE R
T el S e € |

A B C D

arfrme ; sem mivmen & FRY S s
weE 3it A A @ G YeH HE |

T : B THREH] ) T I
fora 3ol o 1 e AR A R |
A B C D

siRrwua : AB W& TE T G AR A,
e T T A oiR B 3 sk =
75 AT T |

=T« et 1A 3f 1B Y AB TR
wmm%mﬂ—m%aﬁaﬁ

e B € |
A B c D
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